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SANSKRIT
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( Basic Sanskrit )
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The figures in the margin indicate Jull marks
Jor the questions

Answer either in English or in Assamese
or in Sanskrit

UNIT—I

( Grammar and Composition, Part—I /
T A - 55—l <o )

(Marks:BOIW?F:bO)

1. Decline any four of the following : 1x4=4
O it R it SIfRBR et fort -
(a) R—Jam sgaA
(b) wa—=gdi @

A23/466 ( Tum Over )




. | | ( 3)
( 2)

e) ok | (3@ / )
(c) FF—awlt wwEaw
e 0 I (TR / mhRe)
(d wg— TR
_ @ W _ 1 (iR / sefsa)
(e) FER"—T g .

(0 TPF—I FA | 4. Correct any five of the following sentences :

(g T—uwh sgr | o 1x5=5
| o R i <fwbt I wwe Pt
2. Frame sentences with the following words | (a) = T[N
(any three) : - _ ; 2%3=6 ‘ - |
@7 Rl MR T-3571 T4 (R e Fefit) - |
(c) qfgsaiy |
am:;m;qﬁ:;ﬂq;ml ¢ m
(d) @ ")
3. Fill in the blanks choosing the correct word (e) T 3@*1'
from the brackets (any five) : 1x5=5 ® R Ry
THN 11 Bt At Ao R AT SR o it P —
(R it fiobr) : | B
() S\ (Wi / W) : S. Write the declension of any one of the
(b) g _ | (T / f) | following words : 10
() W ___) (v weg) | TS frt R I @Bt R e B
. / qew; w; g
(d <« | (9 / ame:) |
A23/466
23/ 466 ( Turn Over )

( Continued )




(4)

UNIT—11

( Grammar and Composition, Part—II /
TR AF I-557—ROW 2 )

(Marks:30/W:‘oo)

6. Conjugate any six of the following roots : 1x6=6
T R I Wit aree R R

(a)
(b)
(c)
(d)
(e
0

(&
(h)
()

G)

(k)

A23/466

VAR TG T
VI, TGRS T
VI, TGRS T

NF—T TG e

VEI—R, STHGR T
VIR TR T
VI FgR T
V%, STHGE T
VoI, UG T
VTR T Fg
VT, S

( Continued )

( 5)

7. Join the following Sandhis (any five) : 1x5=5
wo ARz @t F (R e <fisby)

(a) T + amem:
() PR+
(c) o1 +$m
(d) IR +af
e) T +fwm:
f T +3wE
(g W:+wm:

8. Give the resulting forms of the following
(any five) : 1x5=5

e fEERe Fod @@ FRR B (R @i
“oB1) .

(a) T +31
(b) M +3mg

c) T+

A23/466 ( Turm Over )




10.

A23/466

& T+

(6 )
(d) 1+

(e) TQ+FY
f) - +FY

Write the active or passive forms of the
following underlined words (any two) :. 2x2=4

SR SOl AT I SR TR oI
ot (R it ) -

(a) T E_I%n
(b) Q= il

(c) &R AR
(d) i e g

Conjugate - any one of the following roots in

9% (present), W% (past), TR (future) and W
(imperative) ¥%Rs : 10

oo Fil R et ot g =%, to, off W e
TR SRR Rt -

V&I, VR V)

( Continued )

(7))

UNIr—III
( Srimadbhagavadgita / Ssgsawitve! )
( Marks : 20 / JoUKF : R0 )

11. (a) Give an introduction on the Srimad-
bhagavadgita. 10

TgaRmaner3 i <Ry ft |
Or / &t

(b) Present a note on the worship of ¥ and
. ﬁjﬂ] & as described in the Chapter XII of
the Srimadbhagavadgita.

EEeRerY A SgES I TSP
A QF e 3T Bl SaeE oS Gt e
4 |
12. Explain any one of the following verses : 10
o] R @I @Bt IR [ ¥

(a) A FEFTTETEEG U |
MR NS g I

(b) Gg%: Wad qrh FER gefrea:)
weAfiorrghed #RTh: ® ¥ )

* k X
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